Official Gifts Register RECEIVED – Government and Legislative Council Rockliff Government I November 2021 – 31 October 2022

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
2021/22	Premier Rockliff, Ministers Archer, Barnett, Ferguson, Jaensch, Ogilvie, Palmer and Street	Qantas Airlines	Qantas Lounge Memberships @ \$600 each	\$600	Retained by the recipient
2021/22	Premier Rockliff Ministers Archer and Ferguson	Virgin Airlines	Virgin Lounge Memberships @ \$399 each	\$399	Retained by the recipient
2 Nov 2021	Minister Howlett	Tas Racing Club	2 × Tickets to the Melbourne Cup Luncheon @ \$150 each	\$300	Retained by the recipient
8 Nov 2021	Minister Archer	Australasian College of Law and Medicine	I × commemorate plaque	Value unknown	Remain property of the Crown
16 Nov 2021	Former Premier Gutwein	Network Ten	Attendance on Have you Been Paying Attention episode – provided with Donation to charity of choice	\$500	Donation provided to Speak UP! Stay Chatty
30 Nov 2021	Minister Howlett	Tasmania JackJumpers	2 × Tickets to JackJumpers v Brisbane Bullets game @ \$100 each	\$200	Retained by the recipient
Dec 2021	Minister Howlett	Tasmanian Turf Club	2 × Tickets to New Market Official Dinner @ \$50 each	\$100	Retained by the recipient
3 Dec 2021	Former Premier Gutwein	Tasmania JackJumpers	I × Ticket to JackJumpers v Brisbane game @ \$100 each	\$100	Retained by the recipient
3 Dec 2021	Minister Archer	Property Council of Australia Tas Division	2 × Tickets Christmas Luncheon Celebration @ \$195 each	\$390	Retained by the recipient

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
8 Dec 2021	Former Premier Gutwein	Tasmanian Chinese Buddhist Academy	I × food hamper @ \$139 each, 2 × calendars and fish statue @ \$50 each	\$189	Retained by the recipient and remain property of the Crown
9 Dec 2021	Minister Archer	Tasmanian Chinese Buddhist Academy	I × Food hamper @ \$139 and 1 bunch of flowers @ \$90	\$229	Retained by the recipient
9 Dec 2021	Minister Howlett	Tasmania JackJumpers	I × Ticket to JackJumpers v Adelaide 36's game @ \$100 each	\$100	Retained by the recipient
Dec 202	Minister Howlett	Hobart Greyhound Racing Club	2 x Tickets to the HGRC Awards dinner @ \$55 each	\$110	Retained by the recipient
13 Dec 2021	Minister Jaensch	Goldwind (Cattle Hill Windfarm)	I × baseball cap, tie and honey	\$60	Retained by the recipient
4 Dec 202	Minister Barnett	Cricket Tasmania	2 × Tickets to Chairman's Lounge Hurricanes match @ \$300 each	\$600	Retained by the recipient
20 Dec 2021	Minister Barnett	Ministry of Culture and Tourism of the Peoples Republic China	Chinese Tea Set including tea pot, jug and two cups	Value unknown	Remain property of the Crown
20 Dec 2021	Minister Barnett	Taipei Economic and Cultural Office	4 × 2022 calendars with gift bags, a 2022 diary and 10 hand painted desk top calendars, with one wooden holder	Value unknown	Retained by the recipient
24 Dec 2021	Minister Archer	Cricket Tasmania	2 × Tickets to the Chairman's Lounge Hurricanes vs Melb Stars game @ \$360 each	\$720	Retained by the recipient
24 Dec 2021	Minister Petrusma	Cricket Tasmania	2 × Tickets to the Chairman's Lounge Hurricanes vs Melb Stars game @ \$360 each	\$720	Retained by the recipient
27 Dec 2021	Minister Petrusma	Cricket Tasmania	3 × Tickets to the Chairman's Lounge Hurricanes vs Strikers game @ \$360 each	\$1080	Retained by the recipient

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
I Jan 2022	Minister Archer	Cricket Tasmania	2 × Tickets to the Chairman's Lounge Hurricanes vs Heat game @ \$360 each	\$720	Retained by the recipient
5 Jan 2022	Minister Howlett	Devonport Racing Club	2 × Tickets to the Chairman's Luncheon Event @ \$100 each	\$200	Retained by the recipient
Jan 2022	Former Premier Gutwein	Royal Yacht Club of Tasmania	I × Puffer vest @ \$75 each and I × Polo shirt @ \$75 each	\$150	Donated to the Maritime Museum
13 Jan 2022	Minister Barnett	Cricket Tasmania	4 × Tickets to the Ashes Test Match - Jan 22 @ \$50 each	\$200	Retained by the recipient
14 Jan 2022	Former Premier Gutwein	Cricket Australia	3 × Tickets to the Chairman's Room Fifth Ashes Test @ \$750 each (Day 1)	\$2250	Retained by the recipient
15 Jan 2022	Former Premier Gutwein	Cricket Australia	2 × Tickets to the Chairman's Room Fifth Ashes Test @ \$600 each (Day 2)	\$1200	Retained by the recipient
17 Jan 2022	Premier Rockliff	Neighbourhood Houses Tasmania	I x box of Coal River Farm chocolates @ \$64.90 each	\$64.90	Retained by the recipient
24 Jan 2022	Minister Archer	Chinese Association of Tasmania	2 × Tickets Chinese New Year Dinner @ \$80 each	\$160	Retained by the recipient
28 Jan 2022	Minister Jaensch	TAIPEI Economic and Cultural Office	I × container of green tea, and gift box of pineapple cakes	\$52	Retained by the recipient
I Feb 2022	Former Premier Gutwein	Tas Racing Club	2022 Honorary Membership	\$280	Retained by the recipient
4 Feb 2022	Minister Ferguson	Tasmania JackJumpers	I × Corporate Box to the JackJumpers vs Sydney Kings game	\$640	Retained by the recipient
4 Feb 2022	Minister Barnett	Hansen Orchards	2 × Boxes of cherries @ \$50 a box	\$100	Retained by the recipient

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
Feb 2022	Minister Howlett	Tas Racing Club	2 × Tickets to the Schweppes Tasmanian Darby @ \$85 each	\$170	Retained by the recipient
13 Feb 2022	Minister Howlett	Tas Racing Club	2 × Tickets to the Ladbrokes Hobart Cup luncheon @ \$345 each	\$690	Retained by the recipient
13 Feb 2022	Minister Archer	Tas Racing Club	2 × Tickets to the Ladbrokes Hobart Cup luncheon @ \$345 each	\$690	Retained by the recipient
14 Feb 2022	Former Premier Gutwein	Perth Glory Football Club	I x Perth Glory Club Guernsey @ \$110 each	\$110	Remain property of the Crown
16 Feb 2022	Minister Barnett	Consular General Republic of Indonesia	I $ imes$ small silver display Temple souvenir	\$75	Remain property of the Crown
16 Feb 2022	Premier Rockliff	Consul General of the Republic of Indonesia	I \times small silver display Temple souvenir	\$75	Remain Property of the Crown
21 Feb 2022	Minister Street	Perth Glory Football Club	I x Perth Glory 2021-2 Women's League Jersey	\$110	Retained by the recipient
23 Feb 2022	Minister Howlett	Tasmanian Turf Club	2 × Tickets to the Launceston Cup @ \$350 each	\$700	Retained by the recipient
25 Feb 2022	Former Premier Gutwein	Western United Football Club	I x Western United Club Scarf and I x Western United Club Beanie @ \$30 each	\$60	To be donated to an organisation
26 Feb 2022	Minister Howlett	Hallams Restaurant	2 × Tickets to the Legends Lunch @ \$150 each	\$300	Retained by the recipient
28 Feb 2022	Minister Barnett	Midwest Tungsten Service	I x Cube of Tungsten Alloy	\$200	Remain property of the Crown
28 Feb 2022	Minister Street	Tasmania JackJumpers	I × Corporate box to the JackJumpers vs Perth Wildcats Game @ \$640 each	\$640	Retained by the recipient

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
4 Mar 2022	Minister Ogilvie	Tourism Industry Council Tasmania	I x Ticket to the 2022 Tourism Collective International Women's Day @ \$120 each	\$120	Retained by the recipient
5 Mar 2022	Minister Ogilvie	TasPorts	I × Ticket to the 2022 Women's Keelboat Regatta Presentation Dinner @ \$75 each	\$75	Retained by the recipient
5 Mar 2022	Minister Ferguson	Tasmania JackJumpers	2 x Tickets to JackJumpers vs NZ Breakers @ \$100 each	\$200	Retained by the recipient
5 Mar 2022	Minister Jaensch	Hawthorn Football Club	I × Ticket to the Hawthorn Football Club Hillcrest Charity Function \$150 each	\$150	Retained by the recipient
9 Mar 2022	Former Premier Gutwein	Ironman 70.3 Craig Heydon, Ironman	I x Ironman 70.3 cap @ \$29.99 each and I x towel @ \$39.99 each	\$69.98	Remain property of the crown
Mar 2022	Minister Petrusma	Tourism Industry Council Tasmania	I x Ticket to the TICT 2022 Tourism Collective Luncheon @ \$135 each	\$135	Retained by the recipient
Mar 2022	Minister Street	Collingwood Football Club and Netball Tasmania	I × Ticket to the Collingwood Magpies vs Sunshine Coast Lightening pre-season game @ \$145 each	\$145	Retained by the recipient
16 March	Minister Archer	Housing Industry Association	I × Ticket to the HIA Breakfast @ \$160 each	\$160	Retained by the recipient
18 Mar 2022	Former Premier Gutwein	Greek Orthodox Archdiocese of Australia	I x Precise copy of old byzantine icon	\$300	Remain property of the crown
18 Mar 2022	Premier Rockliff	Tourism Industry Council Tasmania	I x Ticket to the 2021 Qantas Australian Tourism Awards @ \$198 each	\$198	Retained by the recipient
19 Mar 2022	Minister Ogilvie	Tasmanian Trotting Club and Hobart Greyhounds	I x Ticket to the Ladbrokes Tasmanian Racing Club's official dinner @ \$60 each	\$60	Retained by the recipient
3 Apr 2022	Minister Street	Tasmania JackJumpers	I x Corporate box to the Jackumpers vs Sydney Kings Game @ \$640 each	\$640	Retained by the recipient

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
5 Apr 2022	Former Premier Gutwein	Young Presidents Organisation Sydney	I × Frogmore Creek Hamper	\$250	Retained by the recipient
7 Apr 2022	Minister Palmer	Exeter Golf Club	4 × Green Fees vouchers for golf at Exeter Golf Club @ \$25 per adult per day	\$100	Retained by the recipient
7 Apr 2022	Premier Rockliff	Tasmanian Chamber of Commerce and Industry	I x House of Anvers Gift Hamper @ \$115 each	\$115	Retained by the recipient
8 Apr 2022	Minister Street	Cricket Tasmania	I × Ticket to the Cricket Tasmania Awards Night @ \$220 each	\$220	Retained by the recipient
9 April 2022	Minister Ogilvie	Tas Racing	I x Ticket to the 2022 Harness Annual Awards and Hall of Fame Dinner @ \$90 each	\$90	Retained by the recipient
16 Apr 2022	Minister Street	Western United FC	I × Ticket to Chairman's Club Function and Western United vs Perth Glory Match @ \$225 each	\$225	Retained by the recipient
21 Apr 2022	Minister Barnett	German Ambassador	I x book – ''German Energy Transmission''	\$135	Remain property of the Crown
21 Apr 2022	Premier Rockliff, Ministers Archer, Barnett, Jaensch and Ogilvie	Mondelez Pty Ltd	I × Tasmanian Gourmet Gift box Cadbury Chocolates @ \$100 each	\$100	Retained by the recipient
21 Apr 2022	Minister Ferguson	Mondelez Pty Ltd	I x Tasmanian Gourmet Gift box Cadbury Chocolates \$100 each	\$100	Donated to the LGH Children's Ward
22 Apr 2022	Minister Ogilvie	Tasmania JackJumpers	5 × Tickets to JackJumpers vs Melbourne United game @ \$100 each	\$500	Retained by the recipient
22 Apr 2022	Premier Rockliff	Tasmanian Land Conservancy	Ix book ''Breathing Space: Reflections and projections on nature in Tasmania''	\$55	Remain property of the Crown

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
23 Apr 2022	Minister Palmer	Tasmania JackJumpers	4 x Tickets to JackJumpers vs Melbourne United game @ \$100 each	\$400	Retained by the recipient
23 Apr 2022	Minister Street	Tasmania JackJumpers	I x Ticket to JackJumpers vs Melbourne United game @ \$100 each	\$100	Retained by the recipient
23 Apr 2022	Minister Ogilvie	Carbine Club of Tasmania	I x Carbine Club Membership	\$100	Retained by the recipient
24 Apr 2022	Minister Street	AFL Tasmania	I × Ticket to Chairman's Lounge Function, North Melbourne vs Geelong @ Blundstone Arena @ \$365 each	\$365	Retained by the recipient
25 Apr 2022	Premier Rockliff	Hawthorn Football Club	I x Ticket to the President's Lunch - Hawthorn vs Sydney Swans @\$380 each	\$380	Retained by the recipient
25 Apr 2022	Minister Palmer	Hawthorn Football Club	2 x Tickets to the President's Lunch – Hawthorn vs Sydney Swans \$ 380 each	\$760	Retained by the recipient
28 Apr 2022	Minister Palmer	Rodney Stone	2 Pairs of rubber Gumboots @ \$55 each	\$110	Retained by the recipient
30 Apr 2022	Premier Rockliff	Tasmania JackJumpers	4 x Tickets to JackJumpers vs Melboume United Game @ \$100 each	\$400	Retained by the recipient
30 Apr 2022	Minister Street	Tasmania JackJumpers	I x Ticket to JackJumpers vs Melbourne United game @ \$100 each	\$100	Retained by the receipinet
8 May 2022	Premier Rockliff	Tasmania JackJumpers	5 x Tickets to the JackJumpers vs Sydney Kings Game @ \$100 each	\$500	Retained by the recipient
8 May 2022	Minister Street	Tasmania JackJumpers	I x Ticket to JackJumpers vs Sydney Kings game @ \$100 each	\$100	Retained by the receipinet
8 May 2022	Premier Rockliff	Tasmania JackJumpers	Tasmania JackJumpers merchandise - 2 x scarves @ \$34.95 each and 3 x women's T- shirts @ \$49.95 each)	\$219.75	Retained by the recipient

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
13 May 2022	Minister Ogilvie	Collingwood Football Club	I × Ticket to the Empowered Leaders, Women in Sport Luncheon @ \$75 each	\$75	Retained by the recipient
15 May 2022	Minister Ogilvie	Collingwood Football Club	I × Ticket to the Round 9 Super Netball League Game @ \$175 each	\$175	Retained by the recipient
18 May 2022	Premier Rockliff	Collingwood Football Club	3 × Tickets to the Round 10 Super Netball Game – Collingwood vs Giants - 1 × Adult @ \$145 and 2 Child @ \$95 each	\$335	Retained by the recipient
22 May 2022	Minister Ogilvie	Tas Racing Club	I x Ticket Aviso TAS Pink Cup Race Day @ \$165 each	\$165	Retained by the recipient
22 May 2022	Minister Street	Hawthorn Football Club	I × Ticket to the President's Function - Hawthorn vs Brisbane Lions Game @ \$380 each	\$380	Retained by the recipient
24 May 2022	Premier Rockliff	The Aus Zohar Project	I × book ''Sacred Zohar'' and 2 × pocket size books ''Zohar Project''	\$153.85	Remain property of the Crown
26 May 2022	Premier Rockliff	Lark Distilling Co.	I × Ticket to the 30 years of Tasmanian Whisky dinner @ \$200 each	\$200	Retained by the recipient
27 May 2022	Minister Palmer	Tasmanian Beekeepers Association	I x hamper of Honey Products @ \$120 each	\$120	Retained by the recipient
l Jun 2022	Premier Rockliff	Reconciliation Tasmania	I × Ticket to the National Reconciliation Week 2022 Breakfast @ \$70 each	\$70	Retained by the recipient
3 Jun 2022	Minister Barnett	Josef Chromy	Engraved wooden panel	\$200	Retained by the recipient
9 Jun 2022	Minister Archer	Artist Suzanne White	Framed Print 'City of Hobart'	\$85	Retained by the recipient
14 Jun 2022	Minister Street	Dark Mofo	4 × Tickets to the Winter Feast @ \$20 each	\$80	Retained by the recipient

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
15 Jun 2022	Premier Rockliff	Greek Orthodox Archdiocese of Australia	I × Commemorative Coin @ \$100 each and I × Icon @ \$120 each	\$220	Remain Property of the Crown
17 Jun 2022	Minister Ogilvie	Carbine Club	I × Ticket to the Club's AFL Luncheon @ \$160 each	\$160	Retained by the recipient
19 Jun 2022	Minister Ogilvie	Tas Racing Club	I × Ticket to the TRC Winter Feast Racing Luncheon @ \$165 each	\$165	Retained by the recipient
20 Jun 2022	Minister Street	Beaker Street Festival	2 × Tickets to Dr Karl Live at the Odeon Theatre @ \$40 each	\$80	Retained by the recipient
21 Jun 2022	Minister Street	Tasmanian Hospitality Association	I × night accommodation for the THA Board Meeting, Industry Dinner and Breakfast	\$321	Retained by the recipient
22 Jun 2022	Minister Archer	Theatre Royal	2 × Tickets to the Circa's Peepshow @ \$90 each	\$180	Retained by the recipient
22 Jun 2022	Minister Ferguson	Josef Chromy	Engraved Timber Panel	\$200	Retained by the recipient
23 Jun 2022	Minister Street	Targa Tasmania	I × Targa Tasmania Jacket @ \$195.00 each	\$195	Retained by the recipient
24 Jun 2022	Minister Jaensch	Big hART	3 × Tickets to the Big hART Winter Feast @ \$30 each	\$90	Retained by the recipient
30 Jun 2022	Minister Archer	Festival of Voices	2 x Tickets to the MacPoint Motown Under the Stars Event @ \$35 each	\$70	Retained by the recipient
2 Jul 2022	Minister Archer	National Electrical and Communications Association	2 × Tickets to the NECA Tasmania Excellence Awards @ \$220 each	\$440	Retained by the recipient
l 2 Jul 2022	Premier Rockliff	Uruguayan Ambassador of Australia	I × Amethyst Geode crystal	\$50	Retained by the recipient

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
13 Jul 2022	Premier Rockliff	Japanese Consul-General	I x Nousaku Kago Rose flexible tray and 2 x Titanium Tumblers	\$117.45	Retained by the recipient
23 Jul 2022	Minister Archer	North Melbourne Football Club	2 x Tickets to the President's Club Function and AFL Game @ \$365 each	\$730	Retained by the recipient
25 Jul 2022	Minister Barnett	People's Republic of China	I x presentation box of Moon cakes @ \$84 each	\$84	Retained by the recipient
26 Jul 2022	Minister Ellis	Tas Minerals, Manufacturing and Energy Council	I × ticket to the TMEC Conference Dinner @ \$130 each	\$130	Retained by the recipient
29 Jul 2022	Minister Archer	Law Society of Tasmania	I x Ticket to the Legal Profession Dinner @ \$160 each	\$160	Retained by the recipient
3 Aug 2022	Minister Ellis	Devonport Strikes Football Club	I x Ticket to the Devonport Strikers vs Wellington Phoenix match @ \$95 each	\$95	Retained by the recipient
3 Aug 2022	Minister Palmer	Nelson Council, New Zealand	I x Ceramic Bowl @ \$134	\$134	Remain property of the Crown
5 Aug 2022	Minister Archer	Civil Contractors Federation (CCF)	2 x Tickets to the CCF Gala Dinner and Award presentation @ \$220 each	\$440	Retained by the recipient
6 Aug 2022	Premier Rockliff	Hawthorn Football Club	I x Ticket to the President's Lunch Hawthorn vs Gold Coast Suns @ \$380 each	\$380	Retained by the recipient
6 Aug 2022	Premier Rockliff, Ministers Archer, Barnett, Ellis, Jaensch, Ogilvie and Street	Outside the Box	I x book ''Watershed @ \$50 each	\$50	Retained by the recipient
6 Aug 2022	Minister Ferguson	Hawthorn Football Club	I x Ticket to the President's Function Hawthorns vs Gold Coast Suns @ \$380 each	\$380	Retained by the receipient

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
6 Aug 2022	Minister Archer	Alex Gadomski Fellowship Ball	2 x Tickets to the Live Gala Ball @ \$220 each	\$440	Retained by the recipient
6 Aug 2022	Minister Palmer	Alex Gadomski Fellowship Ball	2 x Tickets to the Live Gall Ball @ \$220 each and accommodation @ \$249 as MC for Ball	\$699	Retained by the recipient
11 Aug 2022	Minister Ellis	Private Forests Tasmania	I x Ticket to the PFT Board Dinner @ \$53 each	\$53	Retained by the recipient
13 Aug 2022	Minister Street	Surf Life Saving Tasmania	I x Ticket to the 2022 Awards of Excellence @ \$85 each	\$85	Retained by the recipient
21 Aug 2022	Minister Palmer	Hawthorn Football Club	3 × Tickets to President's Lunch - Hawthorn vs Western BullIdogs game @ \$380 each	\$1140	Retained by the recipient
21 Aug 2022	Minister Ellis	Hawthorn Football Club	2 × Tickets to President's Lunch – Hawthorn vs Western Bulldogs game @ \$380 each	\$760	Retained by the recipient
21 Aug 2022	Minister Ogilvie	Tasmanian Turf Club	I × Ticket to the Final Race meeting of the Season @ \$95 each	\$95	Retained by the recipient
24 Aug 2022	Premier Rockliff	Mayor of Nelson, New Zealand	I x framed Photo ''Sunset Tahunanui Beach''	\$145	Retained by the recipient
24 Aug 2022	Minister Ellis	Tasmanian Small Business Council	I × Ticket to Tas Small Business Council Board dinner @ \$65 each	\$65	Retained by the recipient
28 Aug 2022	Minister Street	Hobart Chargers	I × Ticket to the Hobart Chargers Basketball Final @ \$75 each	\$75	Retained by the recipient
5 Sep 2022	Premier Rockliff and Minister Archer	Consul General of the People's Republic of China	I × presentation box of Moon Cakes @ \$84 each	\$84	Retained by the recipient
8 Sep 2022	Minister Archer	The Theatre Royal	Circa's Peepshow – two tickets @ \$90 each	\$180	Retained by the recipient

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
8 Sep 2022	Minister Archer	National Electrical and Communications Association	2 × Tickets to the NECA Tasmania Excellence Awards @ \$220 each	\$440	Retained by the recipient
8 Sep 2022	Minister Ellis	Institute of Quarrying	I × Ticket to the Institutes AGM and Dinner @ \$55.00 each	\$55	Retained by the recipient
9 Sep 2022	Minister Ogilvie	Southern Tasmania Netball Association	I × Ticket to the Association Presentation Evening @ \$65 each	\$65	Retained by the recipient
15 Sep 2022	Premier Rockliff	Ambassador of Vietnam	I x Silk Tie	\$50	Retained by the recipient
15 Sep 2022	Minister Street	Baskerville Historic's Committee	4 × Tickets to the Baskerville Historics Day @ \$60 each	\$240	Retained by the recipient
16 Sep 2022	Minister Street	Wrest Point and Bill Sorell Sports Lunch	I × Ticket to the Bill Sorell Sports Lunch @ \$167 each	\$167	Retained by the recipient
17 Sep 2022	Minister Archer	Claremont Bowls Club	I × Bowling Jacket @ \$80 each	\$80	Retained by the recipient
24 Sep 2022	Premier Rockliff	Australian Football League	2 × Tickets to the AFL Grand Final Luncheon @ \$400 each	\$800	Retained by the recipient
24 Sep 2022	Premier Rockliff	North Melbourne Football Club	2 × Tickets to AFL Grand Final Breakfast @ \$250 each	\$500	Retained by the recipient
25 Sep 2022	Minister Archer	Tasmanian Youth Orchestra (TYO)	2 × Tickets TYO Gala Concert @ \$29 each	\$58	Retained by the recipient
29 Sep 2022	Minister Street	Hockey Tasmania	2 x Hockey One membership packs @ \$500 each	\$1000	Retained by the recipient
Oct 2022	Minister Ogilvie	Tas Racing Club	I × Ticket to the Thoroughbred Annual Awards and HOF Dinner @ \$90 each	\$90	Retained by the recipient

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
Oct 2022	Minister Ellis	Devonport Strikers Football Club	I × Ticket to the Football Club Annual Dinner @ \$50 each	\$50	Retained by the recipient
Oct 2022	Minister Archer	Mental Health Foundation of Australia	I x Trophy for contribution to the National Mental Health Month Launch	\$65	Retained by the recipient
4 Oct 2022	Minister Ogilvie	Aerospace Maritime Defence and Security (AMDA)	I × Ticket to the Land Forces 2022 Event at the Brisbane Convention and Exhibition Centre @ \$195 each	\$195	Retained by the recipient
5 Oct 2022	Minister Ogilvie	Tasmanian Racing Club	I x Annual Membership	\$280	Retained by the recipient
5 Oct 2022	Minister Ellis	Tas Forest Practices Association	I × Ticket to the Tas Forest Practices Association Welcome Dinner @ \$100 each	\$100	Retained by the recipient
15 Oct 2022	Minister Palmer	Rotary Club of Ulverstone West	Hamper of Nutrimetics Products @ \$250 each and 2 Tickets @ \$70 each	\$390	Retained by the recipient and distribute for gifts as raffle prizes
17 Oct 2022	Minister Ogilvie	Cricket Tasmania	I × Ticket to the T20 World Cup and Official Function @ \$395 each	\$395	Retained by the recipient
17 Oct 2022	Premier Rockliff	Vice-Minister of Industry and Trade of S.R of Vietnam	I × large Blue and White Vase	\$125	Remain Property of the Crown
19 Oct 2022	Minister Ellis	Tasmanian State Emergency Services	2 × SES caps and 1 × drink bottle @ \$70 each	\$70	Retained by the recipient
20 Oct 2022	Minister Archer	Hockey Tasmania	2 x Hockey One Tickets @ \$167 each	\$334	Retained by the recipient
22 Oct 2022	Minister Ferguson	TT-Line Pty Ltd	I × Cabin Spirit of Tasmania for the Inaugural sailing into Geelong and return @ \$449	\$998	Retained by the recepient
22 Oct 2022	Premier Rockliff	TT-Line Pty Ltd	I × Cabin Spirit of Tasmania for the Inaugural sailing into Geelong @ \$449	\$449	Retained by the recipient

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
25 Oct 2022	Premier Rockliff	P&O Cruises	I x P&O Cruises Official Licensed Ship Model @ \$67 each	\$67	Retained by the recipient
31 Oct 2022	Minister Ogilvie	PFG Group	I × Outdoor Jacket @ \$150 each	\$150	Retained by the recipient